
CHEMISTRY

BOOKS - MODERN PUBLICATION

HALOALKANES AND HALOARENES

Excercise

1.  and  react with sodium metal to give :

A. a.

B. b.

C. c.

C2H5I C3H7I

C2H(5)I and C3H12

C5H12 + C6H14

C4H10 + C6H14

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_okQBsyKaoWSe


D. d. 

Answer: A

Watch Video Solution

C5H12

2. The IUPAC name of the compound

 is :

A. 1-bromo butane

B. b. 

C. c.

D. d. 

Answer: D

CH3CH2CH2CH2Br

2 − bromopen tan e

2 − methyl − 4 − bromobu tan e

1 − bromo − 3 − methylbu tan e

https://dl.doubtnut.com/l/_okQBsyKaoWSe
https://dl.doubtnut.com/l/_VZWiqWob7OFG


Watch Video Solution

3. Grignard reagent is prepared by the reaction between

:

A. a. Zinc and alkyl halide

B. b. Magnesium and alkyl halide

C. c. Magnesium and alkane

D. d. and aromatic hydrocarbon

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VZWiqWob7OFG
https://dl.doubtnut.com/l/_TvK9hMidlMPh


4. Gem dihalides on hydrolysis give :

A. a . Acetone

B. b. Aldehydes

C. c. Ketone

D. d. Ketone and adehyde

Answer: D

Watch Video Solution

5. Ethylene dichloride can be prepared by adding HCl to :

A. a. Ethane

https://dl.doubtnut.com/l/_EKcFTJlVUNqm
https://dl.doubtnut.com/l/_M5frT4PEDvQ0


B. b. Ethyene

C. c. Acetylene

D. d. Ethylene glycol

Answer: D

Watch Video Solution

6. Which of the following alkyl halide is used as

methylating agent:

A. a. 

B. b. 

C. c.

C2H5G

C2H5Br

C2H5I

https://dl.doubtnut.com/l/_M5frT4PEDvQ0
https://dl.doubtnut.com/l/_YXvSztDlzaXb


D. d. 

Answer: D

Watch Video Solution

CH3I

7. Which compound is used in cooling :

A. a. 

B. b. 

C. c. 

D. d. 

Answer: D

Watch Video Solution

CHCl3

Cl4

CF4

Ca2F2

https://dl.doubtnut.com/l/_YXvSztDlzaXb
https://dl.doubtnut.com/l/_CCnVTmITcUMv


Watch Video Solution

8. Polymer of chloroethylene is :

A. a. 

B. b. Teflon

C. c. Nylon

D. d. Terrylene

Answer: A

Watch Video Solution

PVC

9. Grignard reagent undergoes :

https://dl.doubtnut.com/l/_CCnVTmITcUMv
https://dl.doubtnut.com/l/_U1rHP2dWn7Ju
https://dl.doubtnut.com/l/_pIya0pis2fTy


A. a. Nucleophilic substituition

B. b. Nucleophobic addition

C. c. Both (a) and (b)

D. d. None

Answer: D

Watch Video Solution

10. 1,3-dibromopropane reacts with metallic zinc to form

:

A. a. Propene

B. b. cydopropane

https://dl.doubtnut.com/l/_pIya0pis2fTy
https://dl.doubtnut.com/l/_pUlR6sZ1hLy0


C. c. Propane

D. d. Hexane

Answer: B

Watch Video Solution

11. A grignard reagent is prepared by reacting

magnesium:

A. a. Methyl amine

B. b. Diethyl ether

C. c. Ethyl iodide

D. d. Ethyl alcohol

https://dl.doubtnut.com/l/_pUlR6sZ1hLy0
https://dl.doubtnut.com/l/_NUSf9jIYR1yK


Answer: C

Watch Video Solution

12. Fire which results from the combustion of alkali

metals can be extinguished by

A. a. 

B. b. Sand

C. c. Water

D. d. Kerosens

Answer: A

Watch Video Solution

Cl4

https://dl.doubtnut.com/l/_NUSf9jIYR1yK
https://dl.doubtnut.com/l/_xqNFCQbl9Fsb


13. The  reactivity order for halides:

A. a. 

B. b.

C. c. 

D. d. 

Answer: B

Watch Video Solution

SN2

R − F > R − d > R − Br > R − I

R − I > R − Br > R − Q > R − F

R − Br > R − I > R − d > R − F

R − Cl > R − Br > R − F > R − I

14. Reaction of chloroform with alcoholic KOH in

presence of a primary aromatic amine is called:

https://dl.doubtnut.com/l/_xqNFCQbl9Fsb
https://dl.doubtnut.com/l/_Ixq84hJ2LcT4
https://dl.doubtnut.com/l/_F8nTnJlAJKR2


A. a. Hydrolysis

B. b. Reduction

C. c. Wurtz Reaction

D. d. Carbylamine reaction

Answer: D

Watch Video Solution

15. Ethyl bromide reacts with lead sodium alloy to form:

A. a. Tetraethyl lead

B. b. Tetraethyl bromide

C. c. Both (a) and (b)

https://dl.doubtnut.com/l/_F8nTnJlAJKR2
https://dl.doubtnut.com/l/_hHTljsttaT5V


D. d. None

Answer: A

Watch Video Solution

16. Griganrd reagent shows addition on :

A. a. 

B. b. 

C. c. 

D. d. all

Answer: D

Watch Video Solution

> C = O

−C = N

C = S

https://dl.doubtnut.com/l/_hHTljsttaT5V
https://dl.doubtnut.com/l/_VXPG0oaO3zfv


Watch Video Solution

17. Which is gem-dihalide:

A. a. 

B. b .

C. c. 

D. d. None

Answer: A

Watch Video Solution

CH3. CHBr2

CH2Br. CH2Br

CH3. CHBr. CH2Br

18. The reactivity order of halide ion in alkyl halide is :

https://dl.doubtnut.com/l/_VXPG0oaO3zfv
https://dl.doubtnut.com/l/_hE8DimCEeYbe
https://dl.doubtnut.com/l/_r46RVBCmOaBc


A. a. 

B. b. 

C. c. 

D. d. 

Answer: C

Watch Video Solution

F > a > Br > I

Cl > F > Br > I

I > Br > a > F

Br > I > a > F

19. Non-sticking fry pans are coated with :

A. a. ethylene

B. b. styrene

C. c. tetrafluro ethylene (teflon)

https://dl.doubtnut.com/l/_r46RVBCmOaBc
https://dl.doubtnut.com/l/_91vEnKs5Ki3Z


D. d. Chlorofluoro methane

Answer: C

Watch Video Solution

20. Pick up the correct statement about alkyl halides:

A. a. they show H-bonding.

B. b. They are soluble in water.

C. c. They are soluble in organic solvents

D. d. they do not contain any polar bond.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_91vEnKs5Ki3Z
https://dl.doubtnut.com/l/_q3in4zAq9gJR


Watch Video Solution

21. 2-bromopentane is heated with pottasium ethoxide

in ethanol the major product is :

A. a. 

B. b. 

C. c. pent-1ene

D. d. 

Answer: A

Watch Video Solution

Trans − pent − 2e ≠

2 − eth ⊗ pen tan e

cic − pent2 − e ≠

https://dl.doubtnut.com/l/_q3in4zAq9gJR
https://dl.doubtnut.com/l/_Y7s8vAsBMZHU


22. Which reagent is useful in increasing the carbon

chain of an alkyl-halide:

A. a. 

B. b. 

C. c. 

D. d. 

Answer: B

Watch Video Solution

HCN

KCN

NH4CN

AgCN

23.  reacts with  to form :CH2 = CHCl HCl

https://dl.doubtnut.com/l/_wfgS6OJukMEq
https://dl.doubtnut.com/l/_9ECcVplpq18J


A. a. 

B. b. 

C. c.

D. d. None of these

Answer: B

Watch Video Solution

CH2Cl − CH2Cl

CH3 − CHCl2

CH2 = CHCl. HCL

24. Which product is obtained when bleaching powder is

distiled with acetone?

Watch Video Solution

https://dl.doubtnut.com/l/_9ECcVplpq18J
https://dl.doubtnut.com/l/_5GPCxJt9aXJG


25. The compound that will not give idoform on

treatment with alkali and iodine is :

A. a. Acetone

B. b. Ethanol

C. c. Diethy ketone

D. d. Isopropyl alcohol

Answer: C

Watch Video Solution

26. Ethyl alcohol gives ethyl chloride on treatment with:

https://dl.doubtnut.com/l/_bwg63iSfq8kG
https://dl.doubtnut.com/l/_djFQjlOttyTH


A. a. 

B. b. 

C. c. 

D. d. 

Answer: B

Watch Video Solution

NaCl

SOCl2

Cl2

KCl

27. 


`In the above reaction X stands for

A. a.An oxidant

B. b.A reductant

https://dl.doubtnut.com/l/_djFQjlOttyTH
https://dl.doubtnut.com/l/_p1ruIaJoxwPM


C. c.Light and air

D. d. None of these

Answer: C

Watch Video Solution

28. Vapour density of an organic compound is 23.0. it

contains  of carbon and  of hydrogen. The

compound gives idoform test the compound is :

A. a. ethanol

B. b. Dimethyl ether

C. c. Acetone

52.17 % 13 %

https://dl.doubtnut.com/l/_p1ruIaJoxwPM
https://dl.doubtnut.com/l/_FxkdqiCNVb0o


D. d. Methanal

Answer: C

Watch Video Solution

29. The reaction, 

 is known

as:

A. a. Wurtz Reaction

B. b. Fitting reaction

C. c. Frankland's reaction

D. d. Finkelstein's reaction

https://dl.doubtnut.com/l/_FxkdqiCNVb0o
https://dl.doubtnut.com/l/_Upjzqz94bZ6W


Answer: B

Watch Video Solution

30. Carbon tetrachloride reacts with steam at  to

give:

A. a. 

B. b. 

C. c. both a and b

D. d. None

Answer: A

Watch Video Solution

500∘C

COCl2

CHCl3

https://dl.doubtnut.com/l/_Upjzqz94bZ6W
https://dl.doubtnut.com/l/_iyeBK1aILvBY


31. Iodoform test will not be given by:

A. a. Acetaldehyde

B. b. Acetone

C. c. 

D. d. 3-pentanone

Answer: D

Watch Video Solution

2 − pen tan o ≠

32. What mass of isobutylene is obtained from 37g of

tertiary butyl alcohol by heating with   at20 % H2SO4

https://dl.doubtnut.com/l/_iyeBK1aILvBY
https://dl.doubtnut.com/l/_Mal0S8uV8jQK
https://dl.doubtnut.com/l/_kp0Fy7pqQB1h


363K if the yield is :

A. a,. 16g

B. b. 18.2g

C. c. 20g

D. d. 22g

Answer: B

Watch Video Solution

65 %

33. Methyl amine on heating with  and KOH gives:

A. a. Methanol

B. b. Carbylamine

CHCl3

https://dl.doubtnut.com/l/_kp0Fy7pqQB1h
https://dl.doubtnut.com/l/_rJf6z8UWYm5H


C. c. Methanamide

D. d. Methy cyanide

Answer: B

Watch Video Solution

34. The reaction products of the reaction between

 ,  and  are :

A. a. 

B. b. 

C. c. 

D. d. 

C6H5NH2 CHCl3 KOH

C6H5NC + KCl

C6H5OH + NH4Cl + H2O

C6H5Cl + NH4Cl + KCl

C6H5CN + KCl

https://dl.doubtnut.com/l/_rJf6z8UWYm5H
https://dl.doubtnut.com/l/_mBj3zMDUySKD


Answer: A

Watch Video Solution

35. The product obtained on treatment of ethy chloride

with potassium cyanide is reduced by sodium and

alcohol to give?

Watch Video Solution

36. Carbon tetrachloride on treatment with Fe/H2O gives

,

A. a. Choloromethane

https://dl.doubtnut.com/l/_mBj3zMDUySKD
https://dl.doubtnut.com/l/_mzJK4PJhVbGt
https://dl.doubtnut.com/l/_IzyiSFze6YsI


B. b. Methane

C. c. Chloroform

D. d. Methyl Cyanide

Answer: C

Watch Video Solution

37. Which statement is wrong about chloroform:

A. a.Chloroform is used as anasthetic

B. b. Chloroform is distorted tetrahedral shape

C. c. Choroform is used as a solvent

D. d. Cloroform Has sp^2-hybridized carbon atom.

https://dl.doubtnut.com/l/_IzyiSFze6YsI
https://dl.doubtnut.com/l/_7GZeI0HU8bdc


Answer: D

Watch Video Solution

38. The industrial preperation of chloroform employs

acetone and :

A. a. Sodium Choride

B. b. Chlorine gas

C. c. calcium hypochorate

D. d. Phosgene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7GZeI0HU8bdc
https://dl.doubtnut.com/l/_ItzhiqQVnPsw


39. Treatment of ammonia with excess of ethyl chloride

will yeild ?

Watch Video Solution

40. A mixture of 1-chloropropane and 2-chloropropane

when treated with alcoholic KOH it gives :

A. a. Ethyl amine

B. b. 

C. c. isopropylene

D. d. a mixture of 1-propene and 2 propene

2 − ∝ e ≠

https://dl.doubtnut.com/l/_ItzhiqQVnPsw
https://dl.doubtnut.com/l/_iG7SoeIqdT2s
https://dl.doubtnut.com/l/_7M9ibhOtERk8


Answer: A

Watch Video Solution

41. When n-butyl magnesium iodide is treated with water

the product is :

A. a. iso-butane

B. b. 

C. c. alcohol

D. d. propane

Answer: B

Watch Video Solution

n − bu tan e

https://dl.doubtnut.com/l/_7M9ibhOtERk8
https://dl.doubtnut.com/l/_wtSE5qTl285B


42. IUPAC name of

:

A. a.1,2-dichloroethane

B. b. 2,2-dichloroethane

C. c. 1,1-dichloroethane

D. d. Dichloroethane

Answer: C

https://dl.doubtnut.com/l/_wtSE5qTl285B
https://dl.doubtnut.com/l/_ihY266Edk8oL


Watch Video Solution

43. Chloroform can be obtained from chloral by the

action of :

A. a. 

B. b. 

C. c. Both a and b

D. d. none

Answer: C

Watch Video Solution

Ca(OH)2

NaOH

https://dl.doubtnut.com/l/_ihY266Edk8oL
https://dl.doubtnut.com/l/_ockYt3MuuJFO


44. Iodoform gives a precipitate with  on heating

but chloroform does not because:

A. a. Iodoform is iconic

B. b. Chloroform is covalent

C. c. C-I bond in iodoform is weak and C-Cl form in

chloroform is strong

D. d. none

Answer: C

Watch Video Solution

AgNO3

45. The hydrogen atom in chloroform is :

https://dl.doubtnut.com/l/_zIUeaaCxu8fb
https://dl.doubtnut.com/l/_2DY5PMCeB0AW


A. a,. acidic

B. b. Basic

C. c. Neutral

D. d. None

Answer: A

Watch Video Solution

46. A small amount of alcohol is usually added to

 from ethanol and bleaching powder the latter

provides:

A. a. It retards the anesthetic property of CHCl-(3)

CHCl3

https://dl.doubtnut.com/l/_2DY5PMCeB0AW
https://dl.doubtnut.com/l/_VJosl3xQjdW4


B. b. It retards the oxidation property of CHCl_(3) to

phosgene

C. c. It coneverts any phosgene formed to harmless

ethyl carbonat

D. d both b and c

Answer: C

Watch Video Solution

47. Solvent used in dry cleaning of clothes is:

A. a. Alcohol

B. b. Acetone

https://dl.doubtnut.com/l/_VJosl3xQjdW4
https://dl.doubtnut.com/l/_2ht8JMRMgZMy


C. c. carbon tetrachloride

D. d. Freon

Answer: C

Watch Video Solution

48. In the preperation of  from ethanol and

bleaching powder the latter provides:

A. a. 

B. b. 

C. c. both a and b

D. d. none

CHCl3

Cl2

Ca(OH)2

https://dl.doubtnut.com/l/_2ht8JMRMgZMy
https://dl.doubtnut.com/l/_JM2bMSEOCOyk


Answer: C

Watch Video Solution

49. IUPAC name of a compound haveing the formula

 is :

Watch Video Solution

CH2 = CHCH2Cl

50. Aryl halides are less reactive towards nucleophiles

than alkyl halides due to :

A. a. 3- chloro-1propene

B. b. 3 − chl or o ∝ e ≠ − 3

https://dl.doubtnut.com/l/_JM2bMSEOCOyk
https://dl.doubtnut.com/l/_RlJNGRoyzd3g
https://dl.doubtnut.com/l/_GlqzEOeIqUsb


C. c. allyl choride

D. d. 

Answer: A

Watch Video Solution

1 − chl or o ∝ − 3e ≠

51. The product of the reaction

 is :

A. a. 

B. b. 

C. c. 

D. d. 

CH3 − CH = CH2 + HBr → (X)

CH3 − CHBr − CH3

CH2Br − CH = CH2

CH2 − C − CH2

CH3 − CH2 − CH2Br

https://dl.doubtnut.com/l/_GlqzEOeIqUsb
https://dl.doubtnut.com/l/_6Y0M4C3D7xRz


Answer: A

Watch Video Solution

52. which of the following does not react with benzene

in presence of anhydrous :

A. a.

B. b. 

C. c. 

D. d.

Answer: A

Watch Video Solution

AlCl3

C6HsC1

C6H5CH2C1

CH3C(1)

C6H5CH2CH2CH(2)C1

https://dl.doubtnut.com/l/_6Y0M4C3D7xRz
https://dl.doubtnut.com/l/_roR9xQKayI4D


53. The reaction,

 is an

example of:

A. a.Substitution

B. b. Oxidation

C. c. Addition

D. d. Double decomposition

Answer: B

Watch Video Solution

CH2 = CH2 + Br2 → CH2Br − CH2Br

https://dl.doubtnut.com/l/_roR9xQKayI4D
https://dl.doubtnut.com/l/_QYTcj20Q0cNL


54. Methyl bromide is not used :

A. a.As an insecticide

B. b. A disinfectant

C. c. For dyeing clothes

D. d. As disinfectant for •young fruit tees

Answer: C

Watch Video Solution

55. Which one is liquid at room temperature:

A. a.CH3C1

https://dl.doubtnut.com/l/_NKTsxjyCZJYt
https://dl.doubtnut.com/l/_uZlvt7KJMBCV


B. b. 

C. c. 

D. d. 

Answer: D

Watch Video Solution

C2H5C1

CH3Br

C2H5Br

56. The IUPAC name of the compound,

 is:

A. a.2-bromo-3-chloro-4-oxobutanoic acid

https://dl.doubtnut.com/l/_uZlvt7KJMBCV
https://dl.doubtnut.com/l/_WUtGftTVZW5n


B. b. 

C. c. 4-carbOxybromo-3-chlor6-2-butanone

D. d. None

Answer: A

Watch Video Solution

3 − chl or o − 2 − bromo − 4 − ⊗ open tan oicacid

57. A compound A of formula  on reaction with

alkali can give B of formula  or C of formula 

. B on oxidation gave a compound of the formula 

. C with dilute  containing ion gave

C3H6Cl2

C3H6O

C3H4

C3H5O2 H2SO4 Hg2 +

https://dl.doubtnut.com/l/_WUtGftTVZW5n
https://dl.doubtnut.com/l/_B5Q83cVwzeHe


D of formula  which with bromine and alkali gave

the sodium salt of . A is:

A. a.

B. b. 

C. c. 

D. d. 

Answer: A

Watch Video Solution

C3H6O

C2H4O2

CH3CH2CHC1

CH3CHCICH2C1

CH2CICH2CH2C1

CH3CHCICH2C1

58. Which one of the following can be obtained by halide

exchange method:

https://dl.doubtnut.com/l/_B5Q83cVwzeHe
https://dl.doubtnut.com/l/_Bq8RqpKfHo7A


A. a.

B. b. 

C. c. 

D. d. 

Answer: C

Watch Video Solution

CH3e1

C2H5C1

CH3

CH3Ér

59. PVC is produced by the polymerisation of :

A. a.Vinyl acetate

B. b. Allyl chloride

C. c. Vinyl chloride

https://dl.doubtnut.com/l/_Bq8RqpKfHo7A
https://dl.doubtnut.com/l/_QfT115aAfuK1


D. d. Ethene

Answer: C

Watch Video Solution

60. Which halide is least reactive:

A. a.Alkyl halide

B. b. Allyl halide

C. c. Vinyl chloride

D. d. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QfT115aAfuK1
https://dl.doubtnut.com/l/_b3I8DhF3hvOA


Watch Video Solution

61. In Wurtz reaction of alkyl halides with sodium the

reactivity order of these halids is :

A. a.

B. b. 

C. c. 

D. d. None

Answer: A

Watch Video Solution

RI > KBr > RCI

Rd > RBr

RBr > RI > RCI

https://dl.doubtnut.com/l/_b3I8DhF3hvOA
https://dl.doubtnut.com/l/_ZAww3bHXaagW


62. HCl gas on passing through ethyl alcohol in presence

of anhy.  gives :

A. a.Ethane

B. b. Ethyl chloride

C. c. Ethene

D. d. 

Answer: B

Watch Video Solution

ZnCl2

Cl4

63. The reagent is used in the conversion of 1-butanol to

1-bromobutane is :

https://dl.doubtnut.com/l/_Mf71dUSGG13L
https://dl.doubtnut.com/l/_UequLbhzu46W


A. a.

B. b. 

C. c. CH_(3)Br

D. d. 

Answer: D

Watch Video Solution

CHBr2

Br2

P + Br2

64. The correct order of melting and boiling points of

the primary  secondary  and tertiary 

alkyl halides:

A. a.

(1∘C) (2∘C) (3∘C)

P > S > T

https://dl.doubtnut.com/l/_UequLbhzu46W
https://dl.doubtnut.com/l/_jZLYY8uPLLIG


B. b. 

C. c. 

D. d. 

Answer: A

Watch Video Solution

T > S > P

STP

TPS

65. In the elimination reactions in the formation of

alkenes the reactivity of halogens in alkyl halides follow

the order:

A. a.

B. b. 

l > Br > a

Cl > Br > I

https://dl.doubtnut.com/l/_jZLYY8uPLLIG
https://dl.doubtnut.com/l/_PE2ZS1m2fHxo


C. c. 

D. d. None

Answer: A

Watch Video Solution

Br > a > I

66. A mixture of two organic compounds was treated

with sodium metal in ether solution Isobutane was

obtained as a product . The two chlorine compounds are

:

A. a.Methyl chloride and propyl chloride

B. b. Methyl chloride and ethyl chloride

https://dl.doubtnut.com/l/_PE2ZS1m2fHxo
https://dl.doubtnut.com/l/_iX38r5jnVcxW


C. c. Isopropyl chloride and methyl chloride

D. d. Isopropyl chloride and ethyl chloride

Answer: C

Watch Video Solution

67. The  reactivity of ethyl chloride is :

A. a.Möre or less equal to that of benzyl chloride

B. b. Less than that of benzyl chloride

C. c. More or less equal to that of chlorobenzene

D. d. Less than that of chlorobenzene

SN

https://dl.doubtnut.com/l/_iX38r5jnVcxW
https://dl.doubtnut.com/l/_4BcYOpZtpZnq


Answer: B

Watch Video Solution

68. Ethyl bromide and isopropyl chloride can be

distinguish by :

A. a.Alcoholic 

B. b. Comparing their colours

C. c. Burning the compound on spatula

D. d. Aqueous  solution

Answer: A

Watch Video Solution

AgNO3

KOH

https://dl.doubtnut.com/l/_4BcYOpZtpZnq
https://dl.doubtnut.com/l/_P36gOh36HIvt


69. In elimination reactions in the formation of alkenes

the reactivity of alkyl halides shows the order:

A. a.

B. b. 

C. c. 

D. d. None

Answer: A

Watch Video Solution

T > S > P

P > S > T

S > T > P

70. Ethylene on treatment with chlorine gives :

https://dl.doubtnut.com/l/_P36gOh36HIvt
https://dl.doubtnut.com/l/_a9NuMrOLOn8d
https://dl.doubtnut.com/l/_fnfjJwCoCG1a


A. a.Ethylene dichloride

B. b. Ethylene chlorohydrin

C. c. 

D. d. 

Answer: A

Watch Video Solution

CH4

C2H6

71. The substance employed as tear gas is:

A. a.Westron

B. b. Chloropicrin

C. c. Chloretone

https://dl.doubtnut.com/l/_fnfjJwCoCG1a
https://dl.doubtnut.com/l/_CzQSlzh8JrsR


D. d. None

Answer: B

Watch Video Solution

72. Which alkyl halide is preferntially hydrolised by 

mechanism :

A. a.

B. b. 

C. c. 

D. d. 

Answer: D

SN 1

CH3Cl

CH3CH2Cl

CH3CH2CH2Cl

(CH3)3C. Cl

https://dl.doubtnut.com/l/_CzQSlzh8JrsR
https://dl.doubtnut.com/l/_WcnIIBmx31wN


Watch Video Solution

73. In dihalogen derivatives if two halogen atoms are

attached to the same carbon atom the compound is

called :

A. a.Gem-dihalide

B. b. Vicinal dihalide

C. c. Both (a) and (b

D. d. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WcnIIBmx31wN
https://dl.doubtnut.com/l/_tEyyMhX3yg3t


74. In dihalogen derivatives if two halogen atoms are

attached tp the adjacent carbon atom the compound is

called :

A. a.Vicinal dihalide

B. b. Gemidihalide

C. c. Both (a) and (b)

D. d. None

Answer: A

Watch Video Solution

75. Westron is:

https://dl.doubtnut.com/l/_RBfjB4AGEkwX
https://dl.doubtnut.com/l/_XZiYKMqWMvTk


A. a.

B. b. 

C. c. 

D. d. None

Answer: B

Watch Video Solution

CHCl = CHCl

CHCl2. CHCl2

CH2Cl − CH2Cl

76. The  and  can be distinguish by the

action of :

A. a.

B. b. 

CCl4 CHCl3

RNH2 + KOHKOHa1

RCN + KOH. alc

https://dl.doubtnut.com/l/_XZiYKMqWMvTk
https://dl.doubtnut.com/l/_ApZqtzyNeCzu


C. c. Hydrolysis

D. d. Burning in air

Answer: D

Watch Video Solution

77.  reaction is favoured by :

A. a.Non-polar solvents

B. b. More no. of alkyl group on the carbon atom

attached to the halogen atom

C. c. Small groups on the carbon attached to the

halogen atom

SN1

https://dl.doubtnut.com/l/_ApZqtzyNeCzu
https://dl.doubtnut.com/l/_rdrAgKQO9jm2


D. d. None

Answer: B

Watch Video Solution

78. The alkyl group of Grignard reagent acts as:

A. a. Free radical

B. b. Carbonium ion

C. c. Carbanion

D. d. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rdrAgKQO9jm2
https://dl.doubtnut.com/l/_W5ebLKZdZcYu


Watch Video Solution

79. Trichloro acetone reacts with lime water to form:

A. a.

B. b. 

C. c. 

D. d. 

Answer: B

Watch Video Solution

CH3CHO

CHCl3

CH3Cl

CH3OH

https://dl.doubtnut.com/l/_W5ebLKZdZcYu
https://dl.doubtnut.com/l/_R3wZqe5cebJD


80. The IUPAC name of the compound,

A. a.

B. b. 

C. c. 

D. d. None

Answer: A

Watch Video Solution

1, 3 − dibromo − 3 − methylbu tan e

3 − methyl − 1, 2 − bromobu tan e

3 − methyl − 13 − bromo ∝ a ≠

https://dl.doubtnut.com/l/_eQnZB1mrAQPW


81. vicinal and geminal dialhides can be distinguidhed by:

A. a.

B. b. 

C. c.  dust

D. d. None

Answer: A

Watch Video Solution

KOH(aq. )

KOH(alc. )

Zn

82. in order to get ethanthiol from  the reagent

used is :

C2H5Br

https://dl.doubtnut.com/l/_g3vSmBw30wjR
https://dl.doubtnut.com/l/_l6aBUfwsTsTK


A. a. 

B. b. 

C. c.

D. d. 

Answer: B

Watch Video Solution

Na2S

NaHS

KCNS

K2S

83. Which is not present in grignard reagent :

A. a.Carboxylic radical represented by 

B. b. Magnesium represented by Mg

C. c.Alkyl radical represented by R

COOH

https://dl.doubtnut.com/l/_l6aBUfwsTsTK
https://dl.doubtnut.com/l/_gtFS7FXbCBDP


D. d. Halide• radical represented by X

Answer: A

Watch Video Solution

84. For the carbylamine reaction we need hot alcoholic

KOH and :

A. a.Any amine and chloroform

B. b. Chloroform and silver powder

C. c. A primary amine and an alkyl halide

D. d. Any monoalkyl amine and trichloro methane

Answer: D

https://dl.doubtnut.com/l/_gtFS7FXbCBDP
https://dl.doubtnut.com/l/_QlSaKEqxpoaM


Watch Video Solution

85. Victor Grignard was awrded Nobel prize for making

useful compounds by joining organic compounds to :

A. a.Fe

B. b. 

C. c. Protiens

D. d. Na

Answer: B

Watch Video Solution

Mg

https://dl.doubtnut.com/l/_QlSaKEqxpoaM
https://dl.doubtnut.com/l/_LCAZQ89RWv0C


86. Iodofrom is formed when ethanol is heated with :

A. a.Potassium iodide and sodium hydroxide

B. b. Iodine and aqueous potassium hydroxide

C. c. Chloroform and iodine

D. d. Iodine and potassium iodide

Answer: B

Watch Video Solution

87. Which does not give iodoform reaction:

A. a.C6H5COOCH3

https://dl.doubtnut.com/l/_BQoVLMcU6iFq
https://dl.doubtnut.com/l/_cTY8WoRKJWnA


B. b. 

C. c. 

D. d. 

Answer: B

Watch Video Solution

CH3OH

CH3CH2OH

CH3CHO

88. The reactivities of methyl chloride (A) propyl chloride

(B) and chlorobenzene © are in the order :

A. a.

B. b. 

C. c. 

A > B > C

C > B > A

A > C > B

https://dl.doubtnut.com/l/_cTY8WoRKJWnA
https://dl.doubtnut.com/l/_rcZvPaVMAyXE


D. d. 

Answer: A

Watch Video Solution

B > A > C

89. Iodoform test is not given by:

A. a.Ethanol

B. b. Benzophenone

C. c. Ethanal

D. d. Acetophenone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rcZvPaVMAyXE
https://dl.doubtnut.com/l/_Qk6iMvOENZ8M


Watch Video Solution

90.  on reaction with  and 

A. a.Ethane

B. b. Propionic acid

C. c. Acetic acid

D. d. None

Answer: B

Watch Video Solution

CO2 C2H5MgBr H2O

91. Commercial name 1, 1, 2, 2-tetrachloro-ethane is -.

https://dl.doubtnut.com/l/_Qk6iMvOENZ8M
https://dl.doubtnut.com/l/_pbjU8qyB4kmB
https://dl.doubtnut.com/l/_IpKKdNfz72ao


Watch Video Solution

92. In methyl chloride molecule there are----- bonds.

Watch Video Solution

93. Complete the equation

Watch Video Solution

CH3CH2Br + KOH(alc. ) → _ __ + H2O +_ __

94. Complete the following reaction

W t h Vid S l ti

https://dl.doubtnut.com/l/_IpKKdNfz72ao
https://dl.doubtnut.com/l/_8vfsRRVdSsSw
https://dl.doubtnut.com/l/_uKmEYMlRIwYV
https://dl.doubtnut.com/l/_Y5p0B6Pym3vC


Watch Video Solution

95. IUPAC name of Freon-12 is _____.

Watch Video Solution

96. Ethyl bromide reacts with ammonia to give

Watch Video Solution

97. Methyl bromide on treatment wih sodium ethoxide

togive

Watch Video Solution

https://dl.doubtnut.com/l/_Y5p0B6Pym3vC
https://dl.doubtnut.com/l/_P30u5tWRjuvx
https://dl.doubtnut.com/l/_PxnayD46CAfh
https://dl.doubtnut.com/l/_VEtUBVbSELbP


98. Bromopropane reacts with alcoholic  to give

Watch Video Solution

KOH

99. Bromopropane reacts with alcoholic  to give

Watch Video Solution

KOH

100.  is added to propene in presence of peroxide

gives?

Watch Video Solution

HBr

https://dl.doubtnut.com/l/_C1hv5Od9AXn9
https://dl.doubtnut.com/l/_AIwI0q4dN7At
https://dl.doubtnut.com/l/_2fdaM6le1wrz


101. Give the IUPAC name of :

Watch Video Solution

102. How does ethyl bromide react with alcoholic KOH

solution ?

Watch Video Solution

103. Write the structural formula of 1-bromo-2-

methylbutane.

W t h Vid S l ti

https://dl.doubtnut.com/l/_OBQA4XwpFwKB
https://dl.doubtnut.com/l/_qZ31vY0vSwDM
https://dl.doubtnut.com/l/_exC2s71fCTEO


Watch Video Solution

104. Give the structural fomula of ethyl (3-chloro-2-

methylbutanoate)

Watch Video Solution

105. Give the IUPAC name of 

Watch Video Solution

https://dl.doubtnut.com/l/_exC2s71fCTEO
https://dl.doubtnut.com/l/_kbvPyeu9HyH7
https://dl.doubtnut.com/l/_Q8SzVte2PIp7


106. Give the IUPAC name of 

Watch Video Solution

107. What is Westrosor ?

Watch Video Solution

108. What is the product formed when acetylene

dissolved in ethyl alcohol combines with chlorine ?

Watch Video Solution

https://dl.doubtnut.com/l/_VxBzwEvE6nPj
https://dl.doubtnut.com/l/_l3HJVmoL0sPP
https://dl.doubtnut.com/l/_r2TIAPRgd3hk


109. What organic compound is obtained when ethyl

bromide reacts with aq. NaOH solution?

Watch Video Solution

110. What happens when ethyl iodide is heated with

alcoholic KOH.

Watch Video Solution

111. What happens when ethyl iodide is heated with

sodium in dry ethereal solution ? Give equation.

W h Vid S l i

https://dl.doubtnut.com/l/_r2TIAPRgd3hk
https://dl.doubtnut.com/l/_HabhbNdKErlX
https://dl.doubtnut.com/l/_8stBysO8CdVY
https://dl.doubtnut.com/l/_q62TKzEdt4Za


Watch Video Solution

112. How can you get ethyl chloride from ethyl alcohol?

Give equation.

Watch Video Solution

113. What are ambident nucleophiles ? explain with an

example.

Watch Video Solution

114. Which compound in each of the following pairs will

react faster in  reaction with  and why? 
SN2 OH −

https://dl.doubtnut.com/l/_q62TKzEdt4Za
https://dl.doubtnut.com/l/_AiTo06y5eAY7
https://dl.doubtnut.com/l/_Wngw6yGXRrHW
https://dl.doubtnut.com/l/_xIEvEP8T7G3i


Watch Video Solution

CH3Br or CH3I

115. Complete the following chemical equation : 

Watch Video Solution

116. The p-isomer of dichlorobenzene has higher melting

point then o-and m-isomer. Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_xIEvEP8T7G3i
https://dl.doubtnut.com/l/_PyXMfByb14wE
https://dl.doubtnut.com/l/_R08wQT3jZpkI
https://dl.doubtnut.com/l/_zJeyIjX92u1d


117. What happens when  is treated with 

?

Watch Video Solution

CH3— Br

KCN

118. Write the lUPAC name of 

Watch Video Solution

https://dl.doubtnut.com/l/_zJeyIjX92u1d
https://dl.doubtnut.com/l/_zaHO6CdAsSoB


119. What happens when ethyl chloride is treated with

aqueous KOH?

Watch Video Solution

120. Write the IUPAC name of

Watch Video Solution

(CH)3)2
CH. CH(Cl)CH3

121. Which aerosol depletes ozone layer ?

Watch Video Solution

https://dl.doubtnut.com/l/_RXIkyDXS6OpN
https://dl.doubtnut.com/l/_SDvCRGKRMnAy
https://dl.doubtnut.com/l/_HmYMLsptMlBC
https://dl.doubtnut.com/l/_OyaeeWv9y1gk


122. Write' the IUPAC name of the following compound : 

Watch Video Solution

123. Write the chemical reaction of benzene with

chlorine in presence of anhydrous .

Watch Video Solution

AlCl3

124. Why are chlorine derivatives of Organic compounds

used as a solvents in industry?

https://dl.doubtnut.com/l/_OyaeeWv9y1gk
https://dl.doubtnut.com/l/_kYVlqjMEEO67
https://dl.doubtnut.com/l/_Jc7ZWj9IDm4e


Watch Video Solution

125. Why halobenzene and haloarenes are less reactive

than haloalkanes ?

Watch Video Solution

126. What happens when benzene is heated with

chlorine in presence of sunlight ?

Watch Video Solution

127. What happens when ethyl bromide is treated with

alc. KOH?

https://dl.doubtnut.com/l/_Jc7ZWj9IDm4e
https://dl.doubtnut.com/l/_GmJr4KQaFzHB
https://dl.doubtnut.com/l/_pbvPKtEBJVDC
https://dl.doubtnut.com/l/_5yBaRrkyrXmp


Watch Video Solution

128. What happens when ethyl iodide reacts with sodium

methoxide ?

Watch Video Solution

129. What happens when ethyl iodide is treated with (a)

Aqueous  and (b) Alcoholic  ?

Watch Video Solution

KOH KOH

https://dl.doubtnut.com/l/_5yBaRrkyrXmp
https://dl.doubtnut.com/l/_M848q0vX0mhx
https://dl.doubtnut.com/l/_9xoH5gixgS4O


130. How will you prepare ethyl amine from methyl

iodide ?

Watch Video Solution

131. How can you convert 2-chloro butane to 2-butanol?

Watch Video Solution

132. How does ethyl bromide react with alcoholic KOH

solution ?

Watch Video Solution

https://dl.doubtnut.com/l/_NbkUZWw0ITjv
https://dl.doubtnut.com/l/_uMc36WwCulod
https://dl.doubtnut.com/l/_Jvd588YQBIaV
https://dl.doubtnut.com/l/_4A3Zm8ry07PW


133. How does ethyl bromide react with sodium

ethoxide?

Watch Video Solution

134. How does ethyl bromide react with metallic sodium

in dry ether?

Watch Video Solution

135. What organic compound is obtained when ethyl

bromide reacts with aq. NaOH solution?

Watch Video Solution

https://dl.doubtnut.com/l/_4A3Zm8ry07PW
https://dl.doubtnut.com/l/_V43q9X84Nk8I
https://dl.doubtnut.com/l/_a9IeCCkKMeZg


136. Write with equation what happens when propene

and HBr react ?

Watch Video Solution

137. Give an example of elimination reaction ?

Watch Video Solution

138. What is wurtz reaction ? Give an example.

Watch Video Solution

https://dl.doubtnut.com/l/_8JlCMxEzXLUD
https://dl.doubtnut.com/l/_nHImjtLAd3fg
https://dl.doubtnut.com/l/_pi8G1XGJq5iU


139. How alkanes are prepared from alkyl halide ?

Watch Video Solution

140. How does chlobenzene reacts with exces of chlorine

Watch Video Solution

141. Give an account of neucleophilic substitution

reactions in haloarenes?

Watch Video Solution

https://dl.doubtnut.com/l/_i8HkgCNXOZBb
https://dl.doubtnut.com/l/_xAuLuY9Q6z5y
https://dl.doubtnut.com/l/_s1QgvREhOsVq


142. Give Friedel craft reaction of chlorobenzene

(equation only).

Watch Video Solution

143. Illustrate: Wurtz fitting reaction

Watch Video Solution

144. Write short note on Halogenation.

Watch Video Solution

https://dl.doubtnut.com/l/_qhPF0pwwqfJQ
https://dl.doubtnut.com/l/_U0goRURDlNim
https://dl.doubtnut.com/l/_1YBELymLlIyy


145. When chlorine is passed through warm benzene in

the presence of sunlight, what will be produced

Watch Video Solution

146. What aré products of chlorination of toluene under

different conditions ?

Watch Video Solution

https://dl.doubtnut.com/l/_6k1BPi5AMRT6
https://dl.doubtnut.com/l/_EgSn9kRszLFg


147. Give the IUPAC name of following compound:

Watch Video Solution

148. What are ambident nucleophiles ? explain with an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_wCw4uRyrszRL
https://dl.doubtnut.com/l/_0quXw51aqRIZ


149. Which compound in each of the following pairs will

react faster in  reaction with  and why? 


Watch Video Solution

SN2 OH −

CH3Br or CH3I

150. Complete the following chemical equation : 

Watch Video Solution

151. The p-isomer of dichlorobenzene has higher melting

point then o-and m-isomer. Why ?

https://dl.doubtnut.com/l/_cUKGmSRPDiYM
https://dl.doubtnut.com/l/_0Adw0Ne5NrFQ
https://dl.doubtnut.com/l/_BWsWR46wewep


Watch Video Solution

152. Give the IUPAC name of the following compound.

Watch Video Solution

153. What happens when bromine attacks

?CH2 = CH − CH2 − C ≡ CH

https://dl.doubtnut.com/l/_BWsWR46wewep
https://dl.doubtnut.com/l/_rSVEJ7ePw43l
https://dl.doubtnut.com/l/_jwVdNcr578xm


Watch Video Solution

154. Write the IUPAC name of 

Watch Video Solution

155. What happens when  is treated with 

?

Watch Video Solution

C2H5 − Br

KCN

https://dl.doubtnut.com/l/_jwVdNcr578xm
https://dl.doubtnut.com/l/_oQInq3r5rBGW
https://dl.doubtnut.com/l/_IqJGo43BWzfL


156. Write the IUPAC name of 

Watch Video Solution

157. What happens when ethyl chloride is treated with

aqueous KOH?

Watch Video Solution

https://dl.doubtnut.com/l/_JMVxm1ESXhi0
https://dl.doubtnut.com/l/_UXorOhoBSL5y


158. Write the IUPAC name of

Watch Video Solution

(CH)3)2
CH. CH(Cl)CH3

159. Which compound in the following pair undergoes

faster SN 1 reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_4nwHcw4aGVhn
https://dl.doubtnut.com/l/_rPVfIA344pFO
https://dl.doubtnut.com/l/_hsZbrKk0eYSV


160. Write the IUPAC name of the following compound: 

Watch Video Solution

161. Which aerosol depletes ozone layer ?

Watch Video Solution

https://dl.doubtnut.com/l/_hsZbrKk0eYSV
https://dl.doubtnut.com/l/_I68I5hcAzHkO


162. Write the IUPAC name of the following compound:

Watch Video Solution

163. Predict the order of reactivity of the following

compounds in dehydrohalogenation.

,  , 

Watch Video Solution

(CH3)2CH— CH2Br CH3CH(Br)CH2CH3

(CH3)3C— Br

https://dl.doubtnut.com/l/_bwgIfTmqL0gT
https://dl.doubtnut.com/l/_2FoHsckNJiSK


164. An organic compound  on monochlorination

gives a single monochloride. Write the structure of the

hydrocarbon.

Watch Video Solution

C8H18

165. (a) Give reasons for the following: 

(i) Ethyl iodide Undergoes  reaction faster than ethyl

bromide.

Watch Video Solution

SN2

166.  is hydrolysed to  slowly but the reaction

is rapid if a catalyst amount of  is added to the

RCI ROH

KI

https://dl.doubtnut.com/l/_OXcQgDgvHwA4
https://dl.doubtnut.com/l/_R2QeyC3H2lEK
https://dl.doubtnut.com/l/_7CjcFtlJZ9zK


reaction mixture. Explain.

Watch Video Solution

167. Why is  butan-2-ol is optically inactive?

Watch Video Solution

( ± )

168. How do polar solvents help in the first step in 

mechanism ?

Watch Video Solution

SN1

https://dl.doubtnut.com/l/_7CjcFtlJZ9zK
https://dl.doubtnut.com/l/_iYmrq3lkYcNP
https://dl.doubtnut.com/l/_B84OhxKsg6Ti


169. C — X bond length in halobenzene is smaller than

 bond length in . Explain why ?

Watch Video Solution

C— X CH3— X

170. What is meant by chirality of a compound ? Give an

example.

Watch Video Solution

171. Which one undergoes  substitution reaction

faster and why?

1-bromobutane and 2-bromobutane.

W t h Vid S l ti

SN2

https://dl.doubtnut.com/l/_NVbnviq8qbob
https://dl.doubtnut.com/l/_fYaBtZOdOucA
https://dl.doubtnut.com/l/_UkEbYDgWURyw


Watch Video Solution

172. Which one of the following compounds is more

easily hydrolyzed by  and why ? 


 or 

Watch Video Solution

KOH

CH3CHClCH2CH3 CH3CH2CH2Cl

173. Discuss the preparation of haloalkanes from : 

(a) alkenes (b) alcohols (c) Silver alkanoate

Watch Video Solution

https://dl.doubtnut.com/l/_UkEbYDgWURyw
https://dl.doubtnut.com/l/_pjR53KT4regO
https://dl.doubtnut.com/l/_YMaR7SYC3XNg


174. Explain the chemical reaction of haloalkane 

(a)  (b)Ethanolic ammonia (c) Alcoholic  (d)

Sodium in ether

Watch Video Solution

RONa KOH

175. Discuss the nucleophilic substitution reaction

 of haloalkane with  with

mechanism.

Watch Video Solution

(SN1 and SN2) aq. KOH

176. Write the preparatiön of haloarenes by (i)

Substitution reaction (ii) Sandmeyer's reaction

https://dl.doubtnut.com/l/_Op04LRutvpNG
https://dl.doubtnut.com/l/_637mBNJMPBic
https://dl.doubtnut.com/l/_Vgp3csmV8m9u


Watch Video Solution

177. Discuss nucleophilic and electrohhilic reactions of

haloarene.

Watch Video Solution

178. What is Fittig and Wurtz-Fittig reaction?

Watch Video Solution

179. How the following conversion can be carried out ? 

Aniline to phenylisocyanide

https://dl.doubtnut.com/l/_Vgp3csmV8m9u
https://dl.doubtnut.com/l/_xTKdozE5KnZZ
https://dl.doubtnut.com/l/_tdTyflZkYwy9
https://dl.doubtnut.com/l/_iQHs5WylNBT3


Watch Video Solution

180.  or  


Which one undergoes  substitution reaction faster

and why?

Watch Video Solution

CH3CHClCH2CH3 CH3CH2CH2Cl

SN2

181. (a) Give reasons for the following: 

(i) Ethyl iodide Undergoes  reaction faster than ethyl

bromide.

Watch Video Solution

SN2

https://dl.doubtnut.com/l/_iQHs5WylNBT3
https://dl.doubtnut.com/l/_ioWkRHjgOtVm
https://dl.doubtnut.com/l/_kADMeUYeJDYz


182. Complete the following reactions 

Watch Video Solution

183. What products would you expect from the

elimination Of the following alkyl halides, which product

will be major each case ? 

(i) I-Bromo-2-methyI butane 

(ii) 3-Bromo-2, 3,5,methylhexane

Watch Video Solution

https://dl.doubtnut.com/l/_G5y6n591CcAf
https://dl.doubtnut.com/l/_vIgcBsTUS81v


184. Complete the following reactions:

Watch Video Solution

185. What products would you expect from the

elimination Of the following alkyl halides, which product

will be major each case ? 

(i) 1-Bromo-2-methyI butane 

(ii) 3-Bromo-2,3,5,methylhexane

https://dl.doubtnut.com/l/_vIgcBsTUS81v
https://dl.doubtnut.com/l/_xIYJdYA5U4Od
https://dl.doubtnut.com/l/_NSts7RXsACuh


Watch Video Solution

186. Which alkyl halide from the following pairs would

you expect to react more rapidly by an  mechanism ?

Explain your answer.

Watch Video Solution

S2
N

https://dl.doubtnut.com/l/_NSts7RXsACuh
https://dl.doubtnut.com/l/_FareykIEQgLH


187. Although chlorine is an electron withdrawing group,

yet is op directing in electrophilic aromatic substitution

reaction. Explain.

Watch Video Solution

188. Haloarenes are much less reactive than haloalkanes

towards nucleophilic substitution reaction. Give reason.

Watch Video Solution

189. Arrange each set of compounds in the order of

increasing boiling points. 

https://dl.doubtnut.com/l/_FareykIEQgLH
https://dl.doubtnut.com/l/_RZ1f9zCo5iVh
https://dl.doubtnut.com/l/_00BOr9PxHksJ
https://dl.doubtnut.com/l/_WAr2dYZP8cPB


Bromomethane, bromoform, chloromethane,

dibromomethane

Watch Video Solution

190. In the following pairs of halogen compounds, which

compound undergoes faster towards  reactions? 


Watch Video Solution

SN1

https://dl.doubtnut.com/l/_WAr2dYZP8cPB
https://dl.doubtnut.com/l/_ga9b2Ua8kfuG


191. Why dipolemoment of chlorobenzene is lower than

that of cyclohexyl chloride ?

Watch Video Solution

192. A solution of KOH hydrolyses

. Which

one of these is more easily hydrolysed?

Watch Video Solution

CH3CHClCH2CH3 and CH3CH2CH2CH2Cl

193. The treatment of alkyl chlorides with aqueous KOH

leads to the formation of alcohols but in presence of

alcoholic , alkenes are major products. Explain.KOH

https://dl.doubtnut.com/l/_oJtnS0tZplp7
https://dl.doubtnut.com/l/_8N4TlBXER7ui
https://dl.doubtnut.com/l/_wnknEGeoiBYD


Watch Video Solution

194. How will you bring about the conversion of methyl

bromide to methyl iodide ?

Watch Video Solution

195. Chlorobenzene is extremely less reactive towards a

nucleophilic substitution reaction. Give two reasons for

the same.

Watch Video Solution

https://dl.doubtnut.com/l/_wnknEGeoiBYD
https://dl.doubtnut.com/l/_0V8W58G2a41Z
https://dl.doubtnut.com/l/_1zAMPzfogusx


196. (i) Why does p-dichlorobenzene have a higher m.p.

than its o- and m-isomers ?

(ii) Why is (dl)- butan- 2-ol Optically inactive ?

Watch Video Solution

197. Account for the following : 

(a)The  bond length in chlorobenzene is shorter

than that in . 


(b)Chloroform is stored in dark brown bottles.

Watch Video Solution

C— Cl

CH3 − Cl

https://dl.doubtnut.com/l/_LUBRntFezsxO
https://dl.doubtnut.com/l/_v9OIsbDAwzxx


198. Which one in the following pairs of substances

undergoes  substitution reaction faster and why ?


Watch Video Solution

S2
N

199. Convert the following in not more than two steps: 

Propene to propyne 

Ethanol to but-I-yne

Watch Video Solution

https://dl.doubtnut.com/l/_Y54WangQ3F9m
https://dl.doubtnut.com/l/_PO2w3WuW2fMo


200. Reaction of haloalkanes with KCN produces alkyl

cyanides as the main product while AgCN produces

isocyanides as the chief product. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_IQFqwXhGYXSK

